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Comandos similares a los que están en la ti89/92+ y derive 5.02
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Mode Algebraic
Real solutions: Commands REAL or  ®
REAL(SOLVE(x^3=-1,x))
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®(SOLVE(x^3=-1,x))
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Complex solutions: Commands COMPLEX or  ©

© (SOLVE(x^3=-1,x))
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COMPLEX (SOLVE(x^3=-1,x))
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--------------------------------------------------------------------------------
Approximate solutions: Commands APPROX or  ~
~(©(SOLVE(x^3=-1,x)))
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APPROX (©(SOLVE(x^3=-1,x)))
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EXACT(©(SOLVE(x^3=-1,x)))
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=(©(SOLVE(x^3=-1,x)))
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--------------------------------------------------------------------------------

Commands i & e
ABS({X+Y*i,-e(X)})
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--------------------------------------------------------------------------------

Commands Deg (°) & Rad (r)
r(COS(‡/4))
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COS(° (45))
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COS(r(-‡))
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--------------------------------------------------------------------------------

Commands T & -1
T([[1+i,x,-i]])
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-1([[1,2][a,4]])
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--------------------------------------------------------------------------------

Commands ¬ , or (v) , and (^)
¬(0)
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--------------------------------------------------------------------------------

Commands Intersection (n) , Union (u) , Difference (\) , Contenido ( c )
u({1,3,5,7,9},{2,3,5,8,13})
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n({1,3,5,7,9},{2,3,5,8,13})
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\({1,2,3,4,5,6,7,8,9,10},{2,3,5,7})
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c({1,3,5},{0,1,2,3,4,5,6})
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store 5=X
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